

A STUDY OF Γ -SEMIRING AS A GENERALIZATION OF SOFT SEMIRING (F, Γ) OVER M

M. Murali Krishna Rao

ABSTRACT. In 1999, Moladstov introduced soft set theory for modeling uncertainty. In 1995, M. Murali Krishna Rao introduced the notion of a Γ -semiring as a generalization of Γ -ring, ring, ternary semiring and semiring. In this paper, we study Γ -semiring M as a generalization of soft semiring over M .

1. Introduction

The notion of a semiring is an algebraic structure with two associative binary operations where one distributes over the other, was first introduced by H. S. Vandiver [16] in 1934, but semirings had appeared in studies on the theory of ideals of rings. In structure, semirings lie between semigroups and rings. The results which hold in rings but not in semigroups hold in semirings since semiring is a generalization of ring. The study of rings shows that multiplicative structure of ring is an independent of additive structure whereas in semiring multiplicative structure of semiring is not an independent of additive structure of semiring.

Semirings play an important role in studying matrices and determinants. Semirings are useful in the areas of theoretical computer science as well as in the solution of graph theory, optimization theory, in particular for studying automata, coding theory and formal languages. Semiring theory has many applications in other branches.

As a generalization of ring, the notion of a Γ -ring was introduced by N. Nobusawa [14] in 1964. In 1981, M. K. Sen [15] introduced the notion of a Γ -semigroup as a generalization of semigroup. The notion of a ternary algebraic system was introduced by Lehmer [5] in 1932, Lister introduced the notion of a ternary ring. M. Murali Krishna Rao and B. Venkateswarlu [12] studied regular Γ -incline and field Γ -semiring.

2010 *Mathematics Subject Classification.* 06Y60; 06B10.

Key words and phrases. soft set, soft semiring, Γ -semiring.

Molodtsov introduced the concept of Soft set theory as a new mathematical tool for dealing with uncertainties. Aktas and Cagman [2] defined the notion of soft groups. Feng et. al [3] initiated the study of soft semirings. Soft rings are defined by Acar et.al [1] and Jayanth Ghosh et.al initiated the study of Fuzzy soft rings and Fuzzy soft ideals. In this paper, we study Γ -semiring M as soft semiring over M .

2. Preliminaries

In this section, we recall some definitions introduced by the pioneers in this field earlier.

DEFINITION 2.1. A set S together with two associative binary operations called addition and multiplication (denoted by $+$ and \cdot respectively) will be called semiring provided

- (i) Addition is a commutative operation.
- (ii) Multiplication distributes over addition both from the left and from the right.
- (iii) There exists $0 \in S$ such that $x + 0 = x$ and $x \cdot 0 = 0 \cdot x = 0$ for each $x \in S$.

DEFINITION 2.2. Let M and Γ be additive abelian groups. If there exists a mapping $M \times \Gamma \times M \rightarrow M$ (images of (x, α, y) will be denoted by $x\alpha y$, for any $x, y \in M$, and $\alpha \in \Gamma$) satisfying the following conditions for all $x, y, z \in M$, $\alpha, \beta \in \Gamma$

- (i) $x\alpha(y\beta z) = (x\alpha y)\beta z$
- (ii) $x\alpha(y + z) = x\alpha y + x\alpha z$
- (iii) $x(\alpha + \beta)y = x\alpha y + x\beta y$
- (iv) $(x + y)\alpha z = x\alpha z + y\alpha z$.

Then M is called a Γ -ring.

DEFINITION 2.3. Let $(M, +)$ and $(\Gamma, +)$ be commutative semigroups. Then we call M a Γ -semiring, if there exists a mapping $M \times \Gamma \times M \rightarrow M$ (images of (x, α, y) will be denoted by $x\alpha y$, $x, y \in M$, $\alpha \in \Gamma$) such that it satisfies the following axioms for all $x, y, z \in M$ and $\alpha, \beta \in \Gamma$

- (i) $x\alpha(y + z) = x\alpha y + x\alpha z$
- (ii) $(x + y)\alpha z = x\alpha z + y\alpha z$
- (iii) $x(\alpha + \beta)y = x\alpha y + x\beta y$
- (iv) $x\alpha(y\beta z) = (x\alpha y)\beta z$.

Every semiring R is a Γ -semiring with $\Gamma = R$ and ternary operation $x\gamma y$ defined as the usual semiring multiplication.

We illustrate the definition of Γ -semiring by the following example.

EXAMPLE 2.1. Let S be a semiring and $M_{p,q}(S)$ denote the additive abelian semigroup of all $p \times q$ matrices whose entries are from S . Then $M_{p,q}(S)$ is a Γ -semiring with $\Gamma = M_{p,q}(S)$ and the ternary operation defined by the usual matrix multiplication as $x\alpha y = x(\alpha^t)y$, where α^t denotes the transpose of the matrix α ; for all x, y and $\alpha \in M_{p,q}(S)$.

DEFINITION 2.4. A Γ -semiring M is said to have zero element if there exist an element $0 \in M$ such that $0+x = x = x+0$ and $0\alpha x = x\alpha 0 = 0$, for all $x \in M, \alpha \in \Gamma$.

DEFINITION 2.5. A Γ -semiring M is said to be commutative Γ -semiring if $x\alpha y = y\alpha x$, for all $x, y \in M$ and $\alpha \in \Gamma$.

DEFINITION 2.6. Let M be a Γ -semiring. An element $a \in M$ is said to be α idempotent if $a = a\alpha a$; an element of M is said to be an idempotent of M if it is α idempotent for some $\alpha \in \Gamma$.

DEFINITION 2.7. Let M be a Γ -semiring. If every element of M is an idempotent of M , M is said to be an idempotent Γ -semiring.

DEFINITION 2.8. Let M be a Γ -semiring. An element $a \in M$ is said to be a regular element of M if there exist $x \in M, \alpha, \beta \in \Gamma$ such that $a = a\alpha x\beta a$.

DEFINITION 2.9. Let M be a Γ -semiring. If every element of M is a regular, then M is said to be a regular Γ -semiring.

DEFINITION 2.10. A non-empty subset A of Γ -semiring M is called a Γ -subsemiring M if $(A, +)$ is a subsemigroup of $(M, +)$ and $a\alpha b \in A$ for all $a, b \in A$ and $\alpha \in \Gamma$.

DEFINITION 2.11. An additive subsemigroup I of a Γ -semiring M is said to be a left (right) ideal of M if $M\Gamma I \subseteq I$ ($I\Gamma M \subseteq I$). If I is both left and right ideal then I is called an ideal of Γ -semiring M .

DEFINITION 2.12. Let U be an initial Universe set and E be the set of parameters. Let $P(U)$ denotes the power set of U . A pair (f, E) is called soft set over U where f is a mapping given by $f : E \rightarrow P(U)$.

DEFINITION 2.13. Let U be an initial Universe set and E be the set of parameters. Let $A \subseteq E$. A pair (f, A) is called fuzzy soft set over U where f is a mapping given by $f : A \rightarrow I^U$ where I^U denotes the collection of all fuzzy subsets of U .

DEFINITION 2.14. Let X be a group and (f, A) be a soft set over X . Then (f, A) is said to be soft group over X if and only if $f(a)$ is a subgroup of X for each $a \in A$.

DEFINITION 2.15. For a soft set (f, A) , the set $\{x \in A \mid f(x) \neq \emptyset\}$ is called Support of (f, A) denoted by $Supp(f, A)$. If $Supp(f, A) \neq \emptyset$ then (f, A) is called non null soft set.

DEFINITION 2.16. Let $(f, A), (g, B)$ be two soft sets over U then (f, A) is said to be a soft subset of (g, B) denoted by $(f, A) \subseteq (g, B)$ if $A \subseteq B$ and $f(a) \subseteq g(a)$ for all $a \in A$.

DEFINITION 2.17. Let $(f, A), (g, B)$ be non null soft sets. The intersection of soft sets (f, A) and (g, B) is denoted by $(f, A) \cap (g, B) = (h, C)$ where $C = A \cap B$ is defined as

$$h_c = \begin{cases} f_c, & \text{if } c \in A \setminus B; \\ g_c, & \text{if } c \in B \setminus A; \\ f_c \cap g_c, & \text{if } c \in A \cap B. \end{cases}$$

DEFINITION 2.18. Let $(f, A), (g, B)$ be non null soft sets. The Union of soft sets (f, A) and (g, B) is denoted by $(f, A) \cup (g, B) = (h, C)$ where $C = A \cup B$ is defined as

$$h_c = \begin{cases} f_c, & \text{if } c \in A \setminus B; \\ g_c, & \text{if } c \in B \setminus A; \\ f_c \cup g_c, & \text{if } c \in A \cap B. \end{cases}$$

DEFINITION 2.19. A function $f : R \rightarrow S$ where R and S are Γ -semirings is said to be a Γ -semiring homomorphism if $f(a+b) = f(a)+f(b)$ and $f(a\alpha b) = f(a)\alpha f(b)$ for all $a, b \in R, \alpha \in \Gamma$.

DEFINITION 2.20. Let S be a Γ -semiring and E be a parameter set and $A \subseteq E$. Let f be a mapping given by $f : A \rightarrow P(S)$ where $P(S)$ is the power set of S . Then (f, A) is called a soft Γ -semiring over S if and only if for each $a \in A, f(a)$ is Γ -subsemiring of S . i.e. (i) $x, y \in S \Rightarrow x + y \in f(a)$ (ii) $x, y \in S, \alpha \in \Gamma \Rightarrow x\alpha y \in f(a)$.

DEFINITION 2.21. Let S be a Γ -semiring and E be a parameter set and $A \subseteq E$. Let f be a mapping given by $f : A \rightarrow P(S)$. Then (f, A) is called a soft left(right) ideal over S if and only if for each $a \in A, f(a)$ is a left(right) ideal of S . i.e., (i) $x, y \in f(a) \Rightarrow x + y \in f(a)$ (ii) $x, y \in f(a), \alpha \in \Gamma, r \in S \Rightarrow r\alpha x(x\alpha r) \in f(a)$.

DEFINITION 2.22. Let S be a Γ -semiring and E be a parameter set, $A \subseteq E$ and $f : A \rightarrow P(R)$. Then (f, A) is called a soft ideal over S if and only if for each $a \in A, f(a)$ is an ideal of S . i.e., (i) $x, y \in f(a) \Rightarrow x + y \in f(a)$ (ii) $x \in f(a), \alpha \in \Gamma, r \in S \Rightarrow r\alpha x \in f(a)$ and $x\alpha r \in f(a)$.

3. Main Results

In this section, we study Γ -semiring M as soft semiring over M .

DEFINITION 3.1. Let S be a semiring and E be a parameter set and $A \subseteq E$. Let f be a mapping given by $f : A \rightarrow P(S)$ where $P(S)$ is the power set of S . Then (f, A) is called a soft semiring over S if and only if for each $a \in A, f(a)$ is subsemiring of S . i.e. (i) $x, y \in S \Rightarrow x + y \in f(a)$, (ii) $x, y \in S, \Rightarrow xy \in f(a)$.

THEOREM 3.1. *Every Γ -semiring M is a soft semiring over M .*

PROOF. Let M be a Γ -semiring and $\alpha \in \Gamma$. Define a mapping $*$: $M \times M \rightarrow M$ such that $a * b = a\alpha b$, for all $a, b \in M$. Then $(M, +, *)$ is a semiring of M . It is denoted by M_α . Define $F : \Gamma \rightarrow \mathbb{P}(M)$, where $\mathbb{P}(M)$ is the power set of M by $F(\alpha) = M_\alpha$. Hence Γ -semiring M can be consider as a soft semiring over M . It is denoted by (F, Γ) . □

EXAMPLE 3.1. Let $M = \{0, 1\}$ and $\Gamma = \{\alpha, \beta\}$. We define operations with the following tables:

+	0	1	+	α	β	α	0	1	β	0	1
0	0	0	α	α	α	0	0	0	0	0	0
1	0	1	β	α	β	1	1	1	1	1	1

Then $(M, +), (\Gamma, +)$ are semigroups and M is a Γ -semiring and Γ -semiring M is a soft semiring over M . It is denoted by (F, Γ) .

Converse of this Theorem 3.1 need not be true.

EXAMPLE 3.2. Let $M = \{0, 1\}$ and $\Gamma = \{\alpha, \beta\}$. We define operations with the following tables:

$$\begin{array}{|c|c|c|} \hline + & 0 & 1 \\ \hline 0 & 0 & 0 \\ \hline 1 & 0 & 1 \\ \hline \end{array} \quad \begin{array}{|c|c|c|} \hline + & \alpha & \beta \\ \hline \alpha & \alpha & \alpha \\ \hline \beta & \alpha & \beta \\ \hline \end{array} \quad \begin{array}{|c|c|c|} \hline \alpha & 0 & 1 \\ \hline 0 & 0 & 0 \\ \hline 1 & 1 & 1 \\ \hline \end{array} \quad \begin{array}{|c|c|c|} \hline \beta & 0 & 1 \\ \hline 0 & 0 & 1 \\ \hline 1 & 1 & 1 \\ \hline \end{array} .$$

Then $(M, +), (\Gamma, +)$ are semigroups and M is not a Γ -semiring since M is not a Γ -semigroup. Here (F, Γ) is a soft semiring but not a Γ -semiring. Hence Γ -semiring M is a generalization of soft semiring over M .

THEOREM 3.2. Let M be a Γ -semiring in which $(M, +)$ is right singular semi-group. Then M holds $a + b\alpha c = (a + b)\alpha(a + c)$, for all $a, b \in M, \alpha \in \Gamma$.

PROOF. Let $a, bc \in M$ and $\alpha \in \Gamma$. Then $a + b\alpha c = b\alpha c$ and $(a + b)\alpha(a + c) = b\alpha c$. There $a + b\alpha c = (a + b)\alpha(a + c)$. \square

THEOREM 3.3. Let M be a Γ -semiring with identities $a + b\alpha c = (a + b)\alpha(a + c)$ and $a = a + a\alpha b = a + b\alpha a$, for all $a, b \in M, \alpha \in \Gamma$. Then $(M, +)$ and Γ -semiring M are bands.

PROOF. Let $a, b \in M$ and $\alpha \in \Gamma$. We have

$$\begin{aligned} a &= a + a\alpha a \\ \Rightarrow a &= (a + a)\alpha(a + a) \\ \Rightarrow a &= 4a\alpha a. \\ 5a &= 4a + a = 4a + 4a\alpha a \\ &= 4(a + a\alpha a) \\ &= 4a \\ \Rightarrow 8a &= 4a. \end{aligned}$$

Thus for every $a \in M$, $4a$ is an idempotent.

$$\begin{aligned} a + a &= 4a\alpha a + 4a\alpha a \\ &= 8a\alpha a \\ &= (4a + 4a)\alpha a. \\ &= 4a\alpha a \\ &= a. \end{aligned}$$

Therefore a is an additive idempotent. Now $a = a + a\alpha a = (a + a)\alpha(a + a) = a\alpha a$. Hence the theorem. \square

THEOREM 3.4. Let M be a Γ -semiring with identity $a + a\alpha b = a + b\alpha a = a$. If Γ -semiring M is a band then $a + b\alpha c = (a + b)\alpha(a + c)$, for all $a, b, c \in M$ and $\alpha \in \Gamma$.

PROOF. Let $a, b, c \in M$ and $\alpha \in \Gamma$.

$$\begin{aligned} a + b\alpha c &= a + b\alpha a + b\alpha c \\ &= a + a\alpha c + b\alpha a + b\alpha c \\ &= a\alpha a + a\alpha c + b\alpha a + b\alpha c \\ &= (a + b)\alpha(a + c). \end{aligned}$$

Hence the theorem. \square

THEOREM 3.5. *Let M be a Γ -semiring with identity $a + a\alpha b = a + b\alpha a = a$. If Γ -semiring M is a band then $(M, +)$ and Γ -semiring M are semilattices.*

PROOF. Let $a \in M$ and $\alpha \in \Gamma$. Then $a + a\alpha a = a \Rightarrow a + a = a$.

Thus $(M, +)$ is band.

For every $a, b \in M, \alpha \in \Gamma$, we have $a\alpha(a + b) = a\alpha a + a\alpha b = a + a\alpha b = a$, and $a\alpha(b + a) = a\alpha b + a\alpha a = a\alpha b + a = a$.

Similarly $b\alpha(b + a) = b$.

$$\begin{aligned} a + b &= a\alpha(b + a) + b\alpha(b + a) \\ &= (a + b)\alpha(b + a) \\ &= a\alpha b + b\alpha b + a\alpha a + b\alpha a \\ &= a\alpha b + b + a + b\alpha a \\ &= b + a. \end{aligned}$$

Hence $(M, +)$ is commutative.

$$\begin{aligned} a\alpha b &= (a + b\alpha a)a(b + b\alpha a) \\ &= a\alpha(b + b\alpha a) + (b\alpha a)\alpha(b + b\alpha a) \\ &= a\alpha b + a\alpha(b\alpha a) + b\alpha a\alpha b + (b\alpha a)\alpha(b\alpha a) \\ &= a\alpha b + b\alpha a. \end{aligned}$$

Similarly we can prove $b\alpha a = b\alpha a + a\alpha b = a\alpha b + b\alpha a$. Therefore $a\alpha b = b\alpha a$. Thus Γ -semiring M is commutative. \square

THEOREM 3.6. *Let M be a Γ -semiring with*

- (i) $a + b\alpha c = (a + b)\alpha(a + c)$
- (ii) $a + a\alpha b = a + b\alpha a = a$
- (iii) $a\alpha b + a = b\alpha a + a = a$, for all $a, b \in M$.

Then soft semiring (F, Γ) is Γ -semiring M is a soft distributive lattice structure.

PROOF. By Theorem 3.5, semigroup $(M, +)$ and Γ -semiring M are semilattices. Let $\alpha \in \Gamma$.

Define $a \leq b$ by $a + b = b$ and $a\alpha b = a$. Obviously \leq is a partial order. If $a \leq c$ and $b \leq c$ then $a + c = c, b + c = c, a = a\alpha c, b = b\alpha c$. Then

$$\begin{aligned} c &= c + c \\ &= a + c + b + c \\ &= (a + b) + c + c \\ &= a + b + c. \\ (a + b)\alpha c &= a\alpha c + b\alpha c = a + b. \end{aligned}$$

Hence $a + b \leq c$. Thus $a \vee b = a + b$.

If $c \leq a$ and $c \leq b$ then $c + a = a, c + b = b$ and $c\alpha a = c, c\alpha b = c$. Now

$$\begin{aligned} c + a\alpha b &= (c + a)\alpha(c + b) \\ &= a\alpha b \\ c\alpha a\alpha b &= (c\alpha a)\alpha b \\ &= c\alpha b \\ &= c. \end{aligned}$$

Therefore $c \leq a\alpha b$. Thus $a \wedge b = a\alpha b$.

$$\begin{aligned} a \vee (b \wedge c) &= a + (b\alpha c) \\ &= (a + b)\alpha(a + c) \\ &= (a \vee b) \wedge (a \vee c). \end{aligned}$$

Therefore

$$\begin{aligned} a \vee (b \wedge c) &= (a \vee b) \wedge (a \vee c). \\ a \wedge (b \vee c) &= a\alpha(b + c) \\ &= a\alpha b + a\alpha c \\ &= (a \wedge b) \vee (a \wedge c). \end{aligned}$$

Hence, for each $\alpha \in \Gamma$, semiring M_α admits a distributive lattice structure (M_α, \vee, \wedge) . Then soft semiring (F, Γ) over M in Γ -semiring with identity is a soft distributive lattice structure over M . \square

THEOREM 3.7. *Let M be a Γ -semiring with zero. Then the following are equivalent.*

- (i) M is a 0-simple Γ -semiring
- (ii) M_α is a 0-simple semiring, for any $\alpha \in \Gamma$
- (iii) M_α is a 0-simple semiring, for some $\alpha \in \Gamma$
- (iv) $M\alpha a\beta M = M$, for any $a \in M \setminus \{0\}$, $\alpha, \beta \in \Gamma$

PROOF. Let M be a Γ -semiring with zero.

- (i) \Rightarrow (ii): Since M_α is an ideal of M_α , for every $\alpha \in \Gamma, a \in M \setminus \{0\}$. Then $M\alpha a\alpha M = M$. Therefore M_α is a 0-simple semiring.
- (ii) \Rightarrow (iii): Obvious

- (iii) \Rightarrow (iv): Suppose M_α is 0-simple, for some $\alpha \in \Gamma$.
 $(M\gamma a\beta M)\alpha M \leq M\gamma a\beta M$ and $M\alpha(M\gamma a\beta M) \leq M\gamma a\beta M, \gamma, \beta \in M$.
 $M\gamma a\beta M$ is an ideal of M_α .
 Therefore $M\gamma a\beta M = M_\alpha$, for any $a \in M \setminus \{0\}$.
- (iv) \Rightarrow (i): Let A be an ideal of M containing an element a . Then

$$\begin{aligned} M\alpha a\beta M &\subseteq A \\ \Rightarrow M &\subseteq A \\ \Rightarrow M &= A. \end{aligned}$$

Hence M is a 0-simple Γ -semiring. □

THEOREM 3.8. *Let M be a Γ -semiring. Then M_α is a 0-simple semiring for some $\alpha \in \Gamma$ if and only if (F, Γ) is a soft 0-simple semiring.*

DEFINITION 3.2. A division semiring M is a semiring M which is a multiplicative group.

DEFINITION 3.3. A Γ -semiring M is called a division Γ -semiring if M_α is a division semiring, for some $\alpha \in \Gamma$.

THEOREM 3.9. *Let M be a Γ -semiring. Then the following are equivalent*

- (i) M is a division Γ -semiring
- (ii) M_α is a division semiring, for some $\alpha \in \Gamma$
- (iii) M_α is a division semiring, for all $\alpha \in \Gamma$

PROOF. Let M be a Γ -semiring.

- (i) \Rightarrow (ii): From the definition of division Γ -semiring, proof is obvious.
- (ii) \Rightarrow (iii): Let M_α be a division semiring, for some $\alpha \in \Gamma$ and $\beta \in \Gamma, a \in M$.
 Then $(a\beta M)\alpha M \subseteq a\beta M$ or $M\alpha(M\beta a) \subseteq M\beta a$.
 Therefore $a\beta M$ and $M\beta a$ are right ideal and left ideal respectively of M_α .
 Since M_α is a division semiring, we have $a\beta M = M\beta a = M$.
 Therefore M_β is a division semiring
- (iii) \Rightarrow (i): Obvious. □

Proof of the following theorem follows from Theorem 3.9.

THEOREM 3.10. *Let M be a Γ -semiring. Then M_α is a division semiring for some $\alpha \in \Gamma$ if and only if (F, Γ) is a soft division semiring.*

DEFINITION 3.4. An element x of a Γ -semiring M is called a left zeroid (right zeroid) if for each $y \in M, \alpha \in \Gamma$, there exists $a \in M$ such that $a\alpha y = x$ ($y\alpha a = x$).

THEOREM 3.11. *Let M be a Γ -semiring. If e is a left zeroid of a semiring M_α , for some $\alpha \in \Gamma$ then e is a left zeroid of a soft semiring (F, Γ) .*

PROOF. Suppose e is a left zeroid of a semiring $M_\alpha, \alpha, \beta \in \Gamma, x \in M$. Therefore $x\beta x \in M$. Then there exists $z \in M$ such that $z\alpha(x\beta x) = e$, since e is a left zeroid

of a semiring M_α , $\Rightarrow (z\alpha x)\beta x = e$. Hence e is a left zero of a semiring M_β . Therefore e is a left zero of a semiring M_β for all $\beta \in \Gamma$. Hence the Theorem. \square

THEOREM 3.12. *Let M be a Γ -semiring, x is a left zero element of a semiring M_α , for some $\alpha \in \Gamma$ and $e\alpha e = e$ for all $\alpha \in \Gamma$. Then e is a right identity of a soft semiring (F, Γ) over M . i.e. $x\alpha e = x$ for all $\alpha \in \Gamma$.*

PROOF. Let x be a left zero element of a semiring M_α , for some $\alpha \in \Gamma$. Then there exists $a \in M$ such that $a\alpha e = x$. Therefore

$$\begin{aligned} x\alpha e &= a\alpha e\alpha e \\ &= a\alpha e \\ &= x. \end{aligned}$$

By Theorem 3.16, x is a left zero of a soft semiring (F, Γ) . Therefore $x\alpha e = x$ for all $\alpha \in \Gamma$. \square

References

1. U. Acar, F. Koyuncu and B. Tanay. Soft sets and soft rings. *Comput. Math. Appl.*, **59**(11)(2010), 3458–3463.
2. H. Aktas and N. Cagman. Soft sets and soft groups. *Information Science*, **177**(13)(2007), 2726–2735.
3. F. Feng, Y. B. Jun and X. Zhao. Soft semirings. *Comput. Math. Appl.*, **56**(10)(2008), 2621–2628.
4. J. Ghosh, B. Dinda and T. K. Samanta. Fuzzy soft rings and fuzzy soft ideals. *Int. J. P. App. Sci. Tech.*, **2**(2)(2011), 66–74.
5. H. Lehmer. A ternary analogue of abelian groups. *Amer. J. Math.*, **59**(2)(1932), 329–338.
6. P. K. Maji, R. Biswas and A. R. Roy. Fuzzy soft sets. *J. Fuzzy Math.*, **9**(3)(2001), 589–602.
7. D. Molodtsov. Soft set theory - First results. *Comput. Math. Appl.*, **37**(4-5)(1999), 19–31.
8. M. Murali Krishna Rao. Γ -semirings, I. *Southeast Asian Bull. Math.*, **19**(1)(1995), 49–54.
9. M. Murali Krishna Rao. Γ -semirings, II. *Southeast Asian Bull. Math.*, **21**(5)(1997), 281–287.
10. M. Murali Krishna Rao. The Jacobson radical of a Γ -semiring. *Southeast Asian Bull. Math.*, **23**(1)(1999), 127–134.
11. M. Murali Krishna Rao. Fuzzy soft Γ -semiring and fuzzy soft k ideal over Γ -semiring. *Ann. Fuzzy Math. Info.*, **9**(2)(2015), 12–25.
12. M. Murali Krishna Rao and B. Venkateswarlu. Regular Γ -semiring and field Γ -semiring. *Novi Sad J. Math.*, **45**(2)(2015), 155–171.
13. M. Murali Krishna Rao and B. Venkateswarlu. L -fuzzy ideals in Γ -semirings. *Ann. Fuzzy Math. Inf.*, **10**(1)(2015), 1–16.
14. N. Nobusawa. On a generalization of the ring theory. *Osaka. J. Math.*, **1**(1964), 81–89.
15. M. K. Sen. On Γ -semigroup. In *Proceeding of International Conference on Algebra and its Applications, (New Delhi, 1981)* (pp. 301-308). Lecture Notes in Pure and Appl. Math. 9, New York: Decker Publication, 1984.
16. H. S. Vandiver. Note on a simple type of algebra in which cancellation law of addition does not hold. *Bull. Amer. Math. Soc.*, **40**(12)(1934), 914–920.

Received by editors 29.09.2017; Revised version 03.10.2018; Available online 15.10.2018.

DEPARTMENT OF MATHEMATICS, GIT, GITAM UNIVERSITY,, VISAKHAPATNAM- 530 045,, A.P., INDIA.

E-mail address: mmarapureddy@gmail.com